
Answer on Question #77254 – Math – Algebra 

Question 

a) Calculate the sum of all the even numbers from 2 to 100 inclusive 

2 +  4 +  6+. . . . . . . . . . . . +100 
Solution 

We have the arithmetic progression: 𝑎1 = 2, 𝑑 = 2, 𝑎𝑛 = 100 

Recall that 

𝑎𝑛 = 𝑎1 + (𝑛 − 1)𝑑 

𝑆𝑛 =
𝑎1 + 𝑎𝑛

2
∙ 𝑛 

Find  𝑛 

𝑎𝑛 = 𝑎1 + (𝑛 − 1)𝑑 

100 = 2 + (𝑛 − 1)(2) 

𝑛 − 1 =
100 − 2

2
 

𝑛 = 50 

Then 

𝑆50 =
𝑎1 + 𝑎50

2
∙ 50 

𝑆50 =
2 + 100

2
∙ 50 = 2550 

Answer: S = 2550. 
 

Question 

 

b) In the arithmetic series 

𝑘 +  2𝑘 +  3𝑘+. . . . . . . . . . . . . . . . +100 

𝑘 is a positive integer and k is a factor of 100 

 

i) Find in terms of 𝑘, an expression for the number of terms in the series  

Solution 

We have the arithmetic progression 

𝑎1 = 𝑘, 𝑑 = 𝑘, 𝑎𝑛 = 100 

Recall that 

𝑎𝑛 = 𝑎1 + (𝑛 − 1)𝑑 

Find  𝑛 

100 = 𝑘 + (𝑛 − 1)𝑘 

𝑛 − 1 =
100 − 𝑘

𝑘
 

𝑛 =
100

𝑘
− 1 + 1 

𝑛 =
100

𝑘
 

The sum of series 



𝑆𝑛 =
𝑘 + 100

2
∙

100

𝑘
= 50 +

5000

𝑘
 

𝐀𝐧𝐬𝐰𝐞𝐫: 𝑛 =
100

𝑘
 , 𝑆𝑛 = 50 +

5000

𝑘
 . 
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